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Question 1. (2 marks each)
Perform the following operations.

(a) (¥ +1)(2x — 3x2) u
= 2332 —3xF

=[-3x1+2x%x- 3@

(b) 3v/A —442B +3(—/A — (44°B +2+/4))
= 30A-uA*g+3 (VA - 4B - 205 )
3VA -4A"8 —3UR-12A"B -6UAR
(—67E —16a%8)

(©) 4a* b e—2abct+ 122532

If

2abc
= Ya*bPc _ 2abce” + rzahe®
T 2abc zabe _zabc

=[2ab*—C + 6abC)

Question 2. (2 marks each)
Solve the following equations.
(a)2x—6=—x+9

2+ = 9+6
C3x TS

(x=5]

) =%

]
o(xeh=10(2)
5¢t5 = 6X




Question 3. (3 marks)

SoiVeforJL
1 3
Molviply BoTh Sides by 35x Te gIT
Rid of FRACTIoNS
35 (L+2)= 35k (F - +g._>
x5 5x FX
38X § 0% = 05 —~35x+3F0%
X S 5% Fx
35 My = 2] — 35x+I0 -
49y = —Yy =

=l

Question 4. (3 marks)
Perform the following long division:
(x* =3+ 6x—2) + (x—3)

X2 A3y Cx r2y
-3 | y1-3x2+6x -2
"(\CL"'BX3>
I3 -3xF+6x 2
— (3> 9%)
CX ¥ex -2
e
22Uy -2
— (24 ~72)

-
30

—

ANSWER X+ 3X 'Y 6X+Z‘1+;C;




